
Tuning of the Traditonal FFS

Hector Garcia Morales
1,2, Javier Barranco Garcia2,

Rogelio Tomas Garcia2

1Universitat Politècnica de Catalunya, Barcelona
2CERN, Geneve



√
s = 500 GeV, Matching to (β∗

x, β
∗
y) = (11, 0.48)mm

I First issue: Non-zero dispersion.

I Match (βx, βy, αx, αy) using matching quads.

I Match (Dx, Dy) using B5 dipole at

(µx, µy) = (−π/2,−π/2).

I Correct high order aberrations using 5 sextupoles.

µx = (π/2,−π/2,−π/2, π/2, π/2)
µy = (π/2,−π/2,−π/2, π/2, π/2),

I Result:
I (σ0

x, σ
0
y) = (474.2, 5.86) nm

I (σ5
x, σ

5
y) = (556.2, 7.95) nm

I (Dx, Dy) = (1.74 · 10−8, 0.0) m
I (βx, βy) = (11, 0.48) mm
I (αx, αy) = (−5.8 · 10−7, 5.4 · 10−7)
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